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\1x\1x\ 2.\2 121 121x55 13.\ 221 221•98 3131 25•5 1398 

L1xL1x

6 

3352 1L1 1\1•61 1631 2L1 2 \ 

1•116 

3632 25•15 239\ 

15x15x 3338 161 161•65 1838 261 261•11 \139 31•5 1318 
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5 3 

\5x\5x7 \.61 181 181•71 2231 281 281•11
9 

\831 35•5 1337 

51x51x

5 

3377 211 211 75 2533 31
1 

311 125 SP.2 \1•11 331\ 

51x51x

9 

6.\ 7 2\1 2\1x85 3332 32
1 

321•13
1 

61.1 L1•25 7385 

55x55x

6 

\.95 281 281 95 \138 3\1 3\ 

1•137 

6831 \5•31 1136 

61x61x

6 

5.\2 311 311•111 \632 36
1 

361•1\ 

3 

7632 51•21 7385 

65x65x

7 

638 3 351 351•111 6136 38
1 

381•1\ 

9 

8\.1 51•11 1537 

71x71x

7 

7338 \11 \ 11•111 7138 L11 \ 

11•155 
9236 61•21 9.\2 

 

81x81x

8 

 

9366 

 

511 

 

511•18
5 

 

1\1 

 

51
1 

 

511•18
5 

 

1\1 

 

81•11 

 

531 

91x91x

9 

1232 551 551 

211 

167 55
1 

551•21
1 

167 91•51 3533 
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